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void setup()
{

Serial.begin(9600);
}

void loop()

{
byte data = 0b11110101;

Serial.print("Bit Extraction : ");
for(int i = 0; 1 < 8; i++){
byte result = bitRead(data, 1i);
Serial.print(result);

}
Serial.println();

Serial.print("Bit Set AL B

for(int i = 4; 1 < 8; i++){
bitSet(data, 1i);

}

Serial.println(data, BIN);

Serial.print("Bit Inversion : ");
for(int i = 0; 1 < 4; i++){
bitWrite(data, i, bitRead(data, i) * 1);
}
Serial.println(data, BIN);

Serial.print("Bit Clear IR I
for(int i = 0; 1 < 4; i++){
bitClear (data, 1i);

}
Serial.println(data, BIN);

while(true);
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void setup()

{
Serial.begin(9600);

}
void loop()
{
int A = 20, B = 30, 1i;
for(i = min(A, B); 1 > 0; i--){
int remainl = A % i3

int remain2 = B % 1}

if(remainl == 0 && remain2 == 0) break;

}
Serial.println(String("GCD is ") + 1);

while(true);
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String floatToString(float f, int n = 2){
String s = "";

String((int)f) + ".";
f - (Aint)f;

-+ 0
I}

for(int i = 0; 1 < n; i++){
f=1x 10;
s = s+ (int)f;
f=f- (int)f;

void setup(){
Serial.begin(9600);
}

void loop(){
float f = 3.14159;
String str = floatToString(f, 10);

Serial.println("=> " + str);

while(true);

}
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String buffer = "";

void setup(){
Serial.begin(9600);
}

void loop(){
while(Serial.available()){
char ch = Serial.read();
if(ch == "\r' || ch == '"\n'){
process_decimal();
buffer = "";
break;
}
else
buffer += ch;
}
}

void process_decimal(){
int value = buffer.toInt();
String converted = "";
Serial.println("String buffer : " + buffer);

while(value > 0){
int remain = value % 5;
value = value / 5;
converted = remain + converted;

}

Serial.println(converted);
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int pins[] = {2, 3, 4, 5, 6, 7, 8, 11};

void setup() {
Serial.begin(9600);
for(int i = 0; i < 8; 1i++){
pinMode(pins[i], INPUT);
}
}

void loop() {
int state = 0;
for(int i = 0; i < 8; i++){
boolean value = digitalRead(pins[i]);
state = (state << 1) + value;

if(value){
Serial.print("1 ");
}
else{
Serial.print("e ");
}
}
Serial.println(String(" : ") + state);
delay (1000);

}

(3=

=
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#include <pitches.h>

int speakerPin = 4;
int melody[] = {
NOTE_E4, NOTE_G4, NOTE_G4, NOTE_E4, NOTE_G4, NOTE_G4,
NOTE_A4, NOTE_A4, NOTE_A4, NOTE_A4, NOTE_A4, 0O,
NOTE_G4, NOTE_G4, NOTE_G4, NOTE_G4, NOTE_F4, NOTE_F4, NOTE_F4, NOTE_F4,
NOTE_E4, NOTE_E4, NOTE_E4, NOTE_E4, NOTE_E4, 0,
NOTE_E4, NOTE_G4, NOTE_G4, NOTE_G4, NOTE_E4, NOTE_G4, NOTE_G4,
NOTE_A4, NOTE_A4, NOTE_E4, NOTE_E4, NOTE_G4, O,
NOTE_F4, NOTE_F4, NOTE_F4, NOTE_F4, NOTE_E4, NOTE_E4, NOTE_E4, NOTE_E4,
NOTE_D4, NOTE_D4, NOTE_G4, NOTE_G4, NOTE_C4, ©
}s

int one = 500, half = 250;

int duration[] = {
half, half, one, half, half, one, half, half, half, half, half+one, half,
half, half, half, half, half, half, half, half, half, half, half, half, half+one, half,
half, half, half, half, half, half, one, half+(half/2), half/2, half, half, half+one, half,
half, half, half, half, half, half, half, half, half, half, half, half, half+one, half

}s

void setup(){
}

void loop(){
for(int thisNote = 0; thisNote < sizeof(melody) / sizeof(int); thisNote++){
tone(speakerPin, melody[thisNote], duration[thisNote]);

delay(duration[thisNote]);
noTone (speakerPin) ;

}

while(true);
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int button = 9;
int led = 10;
boolean state = false;

void setup() {
pinMode (button, INPUT);
pinMode (led, OUTPUT);

}

void loop() {
boolean value = digitalRead(button);

if(value){
delay(200);
state = !state;

}

digitalWrite(led, state);
}
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#include <pitches.h>

#define DURATION 10

int notes[] = { NOTE_C4, NOTE_D4, NOTE_E4, NOTE_F4,
NOTE_G4, NOTE_A4, NOTE_B4, NOTE_C5};

int speakerPin = 4;

int analogPin = A3;

void setup(){
}

void loop()
{

int val = analogRead(analogPin);

int index = map(val, 0, 1023, 0, 7);

tone (speakerPin, notes[index], DURATION);
}

int pins[] = {5, 6, 7, 8, 9, 10, 11, 12};
int analog_pin = A3;

void setup(){
for(int i = 0; 1 < 8; i++){
pinMode (pins[i], OUTPUT);
}
}

void loop(){
int value = analogRead(analog_pin);
int LED_position = map(value, 0, 1023, 0, 7);

for(int i = 0; 1 < 8; i++){
if(i == LED_position)
digitalWrite(pins[i], HIGH);
else
digitalWrite(pins[i], LOW);
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int pins[] = {5, 6, 7, 8, 10, 11, 12, 13};
String buffer;

boolean process;

void setup(){
for(int i = 0; 1 < 8; i++){
pinMode (pins[i], OUTPUT);

}
Serial.begin(9600);
buffer = "";
process = false;

}

void loop(){
while(Serial.available() > 0){
char data = Serial.read();

if(data == '"\n'){
process = true;
break;
}
else{
buffer = String(data) + buffer;
}

}

if(process){
int number = 0;
boolean binarySequence = true;
for(int i = 0; i < buffer.length(); i++){

if(buffer[i] != '0' && buffer[i] != '"1'){
binarySequence = false;
break;
}
number = number + (buffer[i] - '0') x (1 << 1);
}

process = false;
buffer = "";

if(!binarySequence)
Serial.println("Not a valid binary number sequence !!");
else{
Serial.println("I got " + String(number));
if(number < 0 || number > 255){
Serial.println("Wrong number !!");
}
else{
for(int i = 0; i < 8; i++){
boolean on_off = bitRead(number, i);
digitalWrite(pins[i], on_off);
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#define INTERVAL1 500
#define INTERVAL2 1000

int LED1 = 10, LED2 = 13;
unsigned long startl, start2, currentl, current2;
boolean statel, state2;

void setup()

{
pinMode (LED1, OUTPUT);
pinMode (LED2, OUTPUT) ;

startl = millis();
start2 = millis();

statel = false;
state2 = false;

digitalWrite(LED1, statel);
digitalWrite(LED2, state2);

void loop()
{
currentl = millis();
if(currentl - startl > INTERVALL){
startl = currentl;
statel = !statel;
digitalWrite(LED1, statel);
}

current2 = millis();

if(current2 - start2 > INTERVAL2){
start2 = current2;
state2 = !state2;
digitalWrite(LED2, state2);

}
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byte patterns[] = {
OxFC, 0x60, OxDA, OxF2, 0x66, OxB6, OXBE, OxE4, OxFE, OxE6
1

int pins[] = {5, 6, 7, 8, 10, 11, 12, 13};

void setup(){
Serial.begin(9600);

for(int i = 0; 1 < 8; i++){
pinMode (pins[i], OUTPUT);
digitalWrite(pins[i], LOW);
}
}

void loop(){
char 1input;

if(Serial.available()){
input = Serial.read();
Serial.println(String("You typed '") + dnput + "'");

if(input >= '0' && dnput <= '9'){
for(int 1 = 0; 1 < 8; i++){
boolean on_off = bitRead(patterns[input - '0'], 1);
digitalWrite(pins[7 - i], on_off);

}
}
else{
for(int i = 0; i < 8; i++){
digitalWrite(pins[i], HIGH);
}
}

}
}

13

S Of|M|= Hif = OFF0|k= 220 /



byte patterns[] = {
OxXFC, 0x60, OxDA, OxF2, 0x66, OxB6, OXBE, OxE4, OxFE, OxE6
1

int pins[] = {5, 6, 7, 8, 10, 11, 12, 13};
int index = 0;
int button_pin = 9;

void setup(){
for(int i = 0; 1 < 8; i++){
pinMode (pins[i], OUTPUT);
}
pinMode (button_pin, INPUT);

for(int i = 0; 1 < 8; i++){
boolean on_off = bitRead(patterns[index], i);
digitalWrite(pins[7 - i], on_off);
}
}

void loop(){
boolean pressed = digitalRead(button_pin);
if(pressed){
delay(200);
index = (index + 1) % 10;

for(int i = 0; 1 < 8; i++){
boolean on_off = bitRead(patterns[index], 1i);
digitalWrite(pins[7 - i], on_off);
}
}
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byte patterns[] = {
OxFC, 0x60, OxDA, OxF2, 0x66, OxB6, OXBE, OxE4, OxFE, OxE6
1

int digit_select_pin[] = {12, 13, Ao, Al};
int segment_pin[] = {2, 3, 5, 6, 7, 8, 10, 11};

int SEGMENT_DELAY = 5;
int count = 20;
boolean toggle = false;

unsigned long time_previous, time_current;

void setup(){
for(int i = 0; 1 < 4; i++){
pinMode (digit_select_pin[i], OUTPUT);
}
for(int i = 0; 1 < 8; i++){
pinMode (segment_pin[i], OUTPUT);
}

time_previous = millis();

void show_digit(int pos, int number){
for(int i = 0; 1 < 4; i++){
if(i + 1 == pos)
digitalWrite(digit_select_pin[i], LOW);
else
digitalWrite(digit_select_pin[i], HIGH);

for(int i = 0; 1 < 8; i++){
boolean on_off = bitRead(patterns[number], 7 - i);
digitalWrite(segment_pin[i], on_off);

}

void clear_digit(int pos){
for(int i = 0; 1 < 8; i++){
digitalWrite(segment_pin[i], LOW);
}
}

void loop(){
time_current = millis();

if(time_current - time_previous >= 500){
time_previous = time_current;
toggle = !toggle;
if(!toggle) count--;
if(count == -1) count = 20;

if(count < 10){
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if(toggle){
show_digit(4, count);
delay (SEGMENT_DELAY) ;
}
else{
clear_digit(4);
delay (SEGMENT_DELAY) ;
}
}
else{
show_digit(3, count / 10);
delay (SEGMENT_DELAY) ;
show_digit(4, count % 10);
delay (SEGMENT_DELAY) ;
}
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byte patterns[] = {
OxFC, 0x60, OxDA, OxF2, 0x66, OxB6, OXBE, OxE4, OXFE, OxE6

s

int digit_select_pin[] = {12, 13, Ao, Al};

int segment_pin[] = {2, 3, 5, 6, 7, 8, 10, 11};
int SEGMENT_DELAY = 5;

int count = 0;

int pos = 1;

unsigned long time_previous, time_current;

void setup(){
for(int i = 0; 1 < 4; i++){
pinMode (digit_select_pin[i], OUTPUT);
}
for(int i = 0; 1 < 8; i++){
pinMode (segment_pin[i], OUTPUT);
}

time_previous = millis();

void show_digit(int pos, int number){
for(int i = 0; 1 < 4; i++){
if(i + 1 == pos)
digitalWrite(digit_select_pin[i], LOW);
else
digitalWrite(digit_select_pin[i], HIGH);

for(int i = 0; 1 < 8; i++){
boolean on_off = bitRead(patterns[number], 7 - i);
digitalWrite(segment_pin[i], on_off);

}

void loop(){
time_current = millis();

if(time_current - time_previous >= 250){
time_previous = time_current;

pos++;
if(pos == 5){
pos = 1;
count = (count + 1) % 10;

show_digit(pos, count);

}
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byte patterns[] = {
0b10000000,
0b010000E0,
0b00106000C0,
0b000 10000,
0b00001000,
0bOOOOO1OO };

int dataPin = 11;
int latchPin = 12;
int clockPin = 13;

int index = -1;

void setup() {
pinMode (dataPin, OUTPUT);
pinMode (clockPin, OUTPUT);
pinMode (latchPin, OUTPUT);
}

void loop() {
index = (index + 1) % 6;

digitalWrite(latchPin, LOW);
shiftOut(dataPin, clockPin, LSBFIRST, ~patterns[index]);
digitalWrite(latchPin, HIGH);

delay (500) ;
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byte pattern = 0B01100000;

int dataPin = 11;
int latchPin = 12;
int clockPin = 13;

boolean move_right = false;

void setup() {
pinMode (dataPin, OUTPUT);
pinMode (clockPin, OUTPUT);
pinMode (latchPin, OUTPUT);

Serial.begin(9600);
}

byte circular_right_shift(byte d, int n)
{

byte d1 = d >> n;

byte d2 = d << (8 - n);

return (d1 | d2);
}

byte circular_left_shift(byte d, int n)

{
byte d1 = d > (8 - n);
byte d2 = d << n;j

return (di1 | d2);
}

void loop() {
if(move_right){
pattern = circular_left_shift(pattern, 1);
}

else{
pattern = circular_right_shift(pattern, 2);

}

Serial.println(pattern, BIN);

move_right = !move_right;
digitalWrite(latchPin, LOW);

shiftOut(dataPin, clockPin, MSBFIRST, pattern);
digitalWrite(latchPin, HIGH);

delay (500) ;
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#include <Wire.h>
#include <Adafruit_MCP23017.h>

Adafruit_MCP23017 mcp;
int pattern_no = 0;

void setup() {
mcp.begin();

for(int i = 0; i < 163 i++){
mcp .pinMode (i, OUTPUT);
}
}

void loop() {
int data = 1 << pattern_no;

mcp.writeGPIOAB (data) ;
pattern_no = (pattern_no + 1) % 16;

delay (100) ;
}

#include <Wire.h>
#include <Adafruit_MCP23017.h>

Adafruit_MCP23017 mcp;

void setup() {
mcp.begin();

for(int i = 0; 1 < 16; i++)
mcp .pinMode (i, OUTPUT);

void loop() {
mcp.writeGPIOA (0xAA);
mcp.writeGPIOB (0xAA) ;
delay (500) ;
mcp.writeGPIOA (0x55);
mcp.writeGPIOB(0x55) ;
delay (500) ;
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#include <LiquidCrystal.h>
LiquidCrystal lecd(2, 3, 5, 6, 7, 8);

void setup(){
lcd.begin(16, 2);
lcd.clear();
randomSeed (analogRead (A5)) ;
Serial.begin(9600);

}

void loop(){
int row = random(Q, 2);
int col = random(@, 17);
char ch = random(@, 53);
if(ch == 0) ch ="' ';
else if(ch <= 26) ch = ch + 'A'" - 1;

else ch = ch + 'a' - 27;

lcd.setCursor(col, row);
led.write(ch);

Serial.println(String("( ") + row + ", " + col + " ) " + ch);

delay (100);
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#include <LiquidCrystal.h>
LiquidCrystal lcd(2, 3, 5, 6, 7, 8);

byte user[][8] = {
{BOOOOO, BOOOOO, BOOOOO, BOOEEO, BOGAOO, BOOEEO, BlOAGO, BOOOOO},
{BOOOOO, BOOOOO, BOOOOO, BOOOOO, BOOAOO, BO1OOO, B110AO, BOOOOO},
{BOOOOO, BOOOOO, BOOOOO, BOOEEO, BOA1OO, BO1100, B11100, BOOOGO},
{BOOOOO, BOOOOO, BOOOOO, BOAO1O, BAA110, BO1110, B11110, BOOOGO},
{BOOOOO, BOOOAO, BOOOOl, BOOO1ll, BAA1ll, BO111l, B1111l, BOOOOO}
}s

void setup() {
for(int i = 0; 1 < 5; i++){
lcd.createChar (i, user[i]);

}

lcd.begin(16, 2);
lcd.clear();
}

void loop() {
int value = analogRead(A3);
String value_string = String(value);

int index = map(value, 0, 1023, 0, 4);
lcd.home() ;

led.write(byte(index));
led.print(value);

for(int i = 0; i < 4 - value_string.length(); i++){
led.write(' ');
}

delay (100) ;
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int led_pin = 10;

void setup(){
Serial.begin(9600);
pinMode (led_pin, OUTPUT);
}

void loop(){
int val = analogRead(A2);

int pwm_value = map(val, 500, 900, 255, 0);
pwm_value = constrain(pwm_value, 0, 255);

Serial.println(String("Lumination : ") + val + ", LED PWM : " + pwm_value);
analogWrite(led_pin, pwm_value);

delay (1000);

#define N 10

int values[N] = {0, };
int index = 0;
int count = 0;

void setup(){
Serial.begin(9600);
}

void loop(){
int val = analogRead(A2);
values[index] = val;
count++;

index++;
if(index == N) index = 0;

float sum = 0.0;
for(int i = 0; 1 < N; i++){
sum += values[i];

}
if(count >= N) sum = sum / N;
else sum = sum / count;

Serial.println(sum);

delay (1000);
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#include <EEPROM.h>

void setup(){
Serial.begin(9600);
}

void write_float_EEPROM(int address, float value)

{
byte xpointer = (byte *)(&value);

for(int i = 0; 1 < 4; i++)
EEPROM.write(address + i, *(pointer + 1i));

float read_float_EEPROM(int address){
float value = 0;
byte xpointer = (byte ) (&value);

for(int i = 0; 1 < 4; i++)
x(pointer + i) = EEPROM.read(address + 1);

return value;

}

void loop(){
Serial.println("Write 12.34 to EEPROM");
write_float_EEPROM(10, 12.34);
Serial.println("Read from EEPROM");
Serial.print(" >> ");

Serial.println(read_float_EEPROM(10));

while(true);
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#include <Wire.h>
#include <Adafruit_MCP23017.h>
#include <Metro.h>

Adafruit_MCP23017 mcp;

Metro timerl(500);
Metro timer2(1000);

boolean togglel = true, toggle2 = true;

void setup(){
mcp.begin();

for(int i = 8; 1 < 16; i++){
mcp.pinMode (i, OUTPUT);
}
}

void loop(){
if(timerl.check()){
togglel = !togglel;
for(int i = 8; i < 12; i++)
mcp.digitalWrite(i, togglel);
}
if(timer2.check()){
toggle2 = !toggle2;
for(int i = 12; i < 16; 1i++)
mcp.digitalWrite(i, toggle2);
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#include <SoftwareSerial.h>
SoftwareSerial BTSerial(2, 3);

void setup()

{
BTSerial.begin(9600);
Serial.begin(9600);

}

void loop()

{
int value = analogRead(A3);

BTSerial.println(value);
Serial.println(value);

delay (1000);

#include <SoftwareSerial.h>

SoftwareSerial BTSerial(2, 3);
int button = 9;
int temp_pin = Al;

void setup()

{
BTSerial.begin(9600);

}

void loop()
{
if(digitalRead(button)){
int input_value = analogRead(temp_pin);
float input_voltage = 5.0 x input_value / 1023.0;
float temperature = input_voltage x 100.0;

BTSerial.println("Event occurred...");
BTSerial.print(" *x*x Current temperature is ");

BTSerial.println(temperature) ;

delay(300);
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